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CHEMISTRY

BOOKS - MS CHOUHAN

ISOMERISM (STRUCTURAL & STEREOISOMERISM)

CHo,

H,—}—H,

H—1—Br
CH.,

1.

replace H, with D and 1, with H

replace My, with D and H, with H

* (X)

Relation between (X) and (Y) is :

A. enantiomers

B. diastereomers

C.Eand Zisomer

* (Y)



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gv4mU8DvPq90

D. constitutional isomer

Answer: B

o Watch Video Solution

2. Which of the following cyclopentane derivative is optically inactive ?

B. I

C

(8]


https://dl.doubtnut.com/l/_gv4mU8DvPq90
https://dl.doubtnut.com/l/_8uKGp9OkBojA

Answer: C

o Watch Video Solution

3. Which is the most stable conformer along the 2,3 C-C bond axis of the

compound ?
H4C F

H W ‘Y
H,C CH,

H CH;
CH,
GH, H
A
F
1 CH,
H CH, |

H,


https://dl.doubtnut.com/l/_8uKGp9OkBojA
https://dl.doubtnut.com/l/_UylVbRDGnFWi

Answer: B

° Watch Video Solution

4. Assign double bond configurations to the following:

COOH
NC
CH,OH
H,N - HLC eN

A E


https://dl.doubtnut.com/l/_UylVbRDGnFWi
https://dl.doubtnut.com/l/_CYIdcYI0Vhfv

B.Z

C.EE

D.Z,Z

Answer: C

° Watch Video Solution

5. Allegra, a common prescription drug with the structure shown below,
is given for the treatment of seasonal allergies. How many stereogenic

carbon does Allegra possess ?

CH,

“aCOOH
CH,,

OH

Al

B.2


https://dl.doubtnut.com/l/_CYIdcYI0Vhfv
https://dl.doubtnut.com/l/_g4tllLVLrSWw

C.3

D.4

Answer: A

o Watch Video Solution

6. How many meso isomers of Cy HgCl5 will be there ?

A.O

B.1

C.2

D.3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_g4tllLVLrSWw
https://dl.doubtnut.com/l/_uySvZR2FKHE9

7.The stable form of trans-1, 4 dimethylcyclohexane is represented as:

CH,
Cﬂgﬁ
A.

CH,

s CH;

HyC \ﬁ\ CH,

C.
CHS
D.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fNmNyuEYACNq

8. Which of the following compound is non-resovable (meso) compounds

?
Br
)
H
A.
O
Me OH
H H
B.
C.
D. All of these
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_D0uswHYeDBDN

9.HO — CH, — CH, — F
() (3)

Which conformer of above compound is most stable across C> — C3?

A. staggered

B. eclipsed (partially)

C. gauche

D. fully eclipsed

Answer: C

° Watch Video Solution

10. The following molecule is fluorometholone, a steroidal anti-

inflammatory agent. How many stereogenic centers does it contain ?

fluorometholone



https://dl.doubtnut.com/l/_rmPal7Oe7IVN
https://dl.doubtnut.com/l/_pGhfd0dNuWAU

A5

B.6

C.7

D.8

Answer: D

° Watch Video Solution

1. How many chiral carbons are there in Reserpine (an antipsychotic

drug) ?

~0

A.9

B.8


https://dl.doubtnut.com/l/_pGhfd0dNuWAU
https://dl.doubtnut.com/l/_8CFsZSa4adfX

C.7

D.6

Answer: B

o Watch Video Solution

12. How many chiral centers are in the following compound ?

A4

B.5

C.6


https://dl.doubtnut.com/l/_8CFsZSa4adfX
https://dl.doubtnut.com/l/_aZliQwhHStyD

D.7

Answer: C

o Watch Video Solution

13. Which of the following compound are meso forms?

CH

CH; CH, :

H-——0OH H——CI .

H——OH Cl——H L
CH,CH, CH, 'ﬂ“""{:r-l,L
1 2 3

A.1only

B.3 only

C.1and 2

D.2and 3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_aZliQwhHStyD
https://dl.doubtnut.com/l/_s3PprRdLBcNq

14. The separation of a racemic mixture into pure enantiomers is termed

as:

A. Racemization

B. Isomerization

C. Resolution

D. Equilibration

Answer: C

o Watch Video Solution

15. Rank of the following groups in order of R, S precedence (IV is

highest) : -

—CH(CH3)2 — CH>CH>5Br — CH5Br —C(CH3)3
1 2 3 4
I II III IV

A
3 2 4 1


https://dl.doubtnut.com/l/_s3PprRdLBcNq
https://dl.doubtnut.com/l/_FZYEpaTkl1Od
https://dl.doubtnut.com/l/_GHLLnSxGxmw1

I 11 II1 1V

B'l 4 2 3

CI 1 111 1v

34 1 2

DI 1 111 i1v

3 4 2 1
Answer: C

° Watch Video Solution

16. Which of the following is a meso compound ?

H CH.,
Cl g
HiC -
A
a i
HaC o
H CH,CH,
B.
g CH,CH,
" ‘Q-ru
H,C cl


https://dl.doubtnut.com/l/_GHLLnSxGxmw1
https://dl.doubtnut.com/l/_IhbiX0SSdnqC

3t Cl

H
HH”H
|

¢ CH;

Answer: D

° Watch Video Solution

17. Among the following structures, select E isomers (arrows indicate the

bonds to be considerd) ?

CH, d
CHy Br o P A j.e CH4
o . D.

H,C ,\C” " 0 P H,C o > a,
1[‘(:’0 1 H al, H

W (2) (3) )
A.1and 2

B.1and 3

C.1and 4

D.2and 3


https://dl.doubtnut.com/l/_IhbiX0SSdnqC
https://dl.doubtnut.com/l/_NpejQOL3Sw32

Answer: C

° Watch Video Solution

18. Which of the following compounds has a zero dipole moment ?

A.
: :l::l
B. Cl
cl
C cl 1
i
+

D. cl

Answer: D



https://dl.doubtnut.com/l/_NpejQOL3Sw32
https://dl.doubtnut.com/l/_YlZZv2g0UYHV

l @ yvatch video solution J

19. On Pluto, where everything is frozen, astronauts discovered two

forms of butane gauche and anti. Assuming that there are no rotations

around single bonds, which statement about the two forms is correct ?

A. They are enantiomers

B. They are diastereoisomers

C. They are meso compounds

D. The gauche form has two stereogenic centers, and the anti has

only one

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YlZZv2g0UYHV
https://dl.doubtnut.com/l/_sXQndkzluaC6

20. Which of the following will show optical activity ?

= COOH

: CH,CHs CH,CH,
H OH
(A) (B) (c) H—T—©OH (p) HO —F—H
HO H H—+—OH HO ———— CH,Cll,
cooH CH,CH, H

(E) 50 / 50 mixture of C and D

A.A,Dand E
B.Aand E only
C.B,Cand D

D. All except C

Answer: A

° Watch Video Solution

21. Among the structure shown below, which has lowest potential

energy?


https://dl.doubtnut.com/l/_LwlvR3WBIp8G
https://dl.doubtnut.com/l/_fguWLAnE0Gim

=
=

o Watch Video Solution

22. Which of the following molecules is/are chiral ?

OH
B, J1 B H " H——cooH
®m X M _a @ (10 ——H
oH
COOH

Al


https://dl.doubtnut.com/l/_fguWLAnE0Gim
https://dl.doubtnut.com/l/_IKdtjGCYQm5v

B. Il

c. 1

D.I, 1

Answer: D

° Watch Video Solution

23. A compound was synthesized by a student, but its structure was not
identified. However, his wonderfully helpful instructor told him that it was
a meso compound with 5 carbons and 2 stereogenic centers. Which of
the following structures should the student consider as possibilities for

his compound ?

OH COyll Br

1)) Br’Q (I1) HO,C. 'J\.)\on (m /\T)\

Br Br
oH OH
(v /L\/,[\ (V) Bt~ ~_Br

A LILIV

B.II, IV


https://dl.doubtnut.com/l/_IKdtjGCYQm5v
https://dl.doubtnut.com/l/_ZAIP4gp4697A

C. LV

D.II, IV,V

Answer: A

o Watch Video Solution

24.How many isomers are possible for the following molecule ?

H
C>C>=CI—[{:1—I = CHCOOH
Hs

Al
B.2
C.3

D.4

Answer: D



https://dl.doubtnut.com/l/_ZAIP4gp4697A
https://dl.doubtnut.com/l/_efgJTytV3D4E

L % Vvvatldll vidco >olution

25. Which of the following molecules are chiral ?

CH, al

HO CH, ci o
m (mn am ) =
HO H Bi al

A LI 1 and IV
B. 1, Il and IV
C.lland IV

D.land Il

Answer: A

° Watch Video Solution

26. Which equilibrium is not rapid at room temperature ?

N — M@

A Me Cl Me


https://dl.doubtnut.com/l/_efgJTytV3D4E
https://dl.doubtnut.com/l/_H3HYcTsBGqZV
https://dl.doubtnut.com/l/_zggP2I5o3kb3

Answer: B

o Watch Video Solution

27. Which is the lowest energy conformation of butane ?

CH,

H
H

e L


https://dl.doubtnut.com/l/_zggP2I5o3kb3
https://dl.doubtnut.com/l/_J2bbTlXkp0WO

H H

H H
C CH,
CH,
HJC H
H H
H
D.
Answer: C

o Watch Video Solution

28. Which of the structures given below are chiral ?

" CH,0H CH,0H
i CHy (H20H HO——H HO——H
cl
1 HO H
m o0 ma/y (un) HO Ho
HO—1—H HO——H
f CHs CH,OH CHO CH,OH

Fischer projections

A LI


https://dl.doubtnut.com/l/_J2bbTlXkp0WO
https://dl.doubtnut.com/l/_lGGSWqiFsy0G

B.IL I,V

C

D.L1I

Answer: B

° Watch Video Solution

29. Which of the following carboxylic acids could be resolved by reaction

with an enantiomerically pure chiral amine ?

CO,H
NO,
O,N
CO,H
A. -
0,N OCOEH
HO,C NQ,
B. ?
O,N Co,H

C. HO,C  NO,


https://dl.doubtnut.com/l/_lGGSWqiFsy0G
https://dl.doubtnut.com/l/_GtARk3jOWxfS

CO,H

Co0

D NO,

Answer: C

° Watch Video Solution

30. What is the relationship between the molecules in the following

pairs ?

CHO CH,O1H
H-—=t—0H HO —t—H
H—1—0H H——OH

HQ —1—H and HO —+—H
o g # 1 5 HO ——H
CH,0OH CHO

| Fischer projections)

A. enantiomers
B. diastereomers

C. identical


https://dl.doubtnut.com/l/_GtARk3jOWxfS
https://dl.doubtnut.com/l/_sHTn3PFaZqnE

D. structural isomers

Answer: C

o Watch Video Solution

31. What are the correct designations for the structure below ?

Cl

A EE
B.Z,E
C.E,Z

D. No geometrical isomers are possible

Answer: D



https://dl.doubtnut.com/l/_sHTn3PFaZqnE
https://dl.doubtnut.com/l/_Rl8nJY3SQ3vQ

| ° Watch Video Solution

32. Which of the following molecules are chiral ?

CHy

H H
m /?\/ () () HOQH av)

H

A.land Il
B.land V
C.lland 1l

D. 11, 11, IV

Answer: D

° Watch Video Solution

33. Which one of the following isomeric structures has the lowest energy

?


https://dl.doubtnut.com/l/_Rl8nJY3SQ3vQ
https://dl.doubtnut.com/l/_nabKY9ArsekW
https://dl.doubtnut.com/l/_Y49EXTDPZebi

.,
o) (X (L e T
gy -
(e) O,

o

° Watch Video Solution

34.The following compounds are identical with respect to :

cl T

A. molecular composition
B. boiling point
C. melting point

D. IUPAC name

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Y49EXTDPZebi
https://dl.doubtnut.com/l/_qvNPmDXFUnpo

35. Among the following, the most stable isomer is :

f‘ E? ~OCH
A HO J

OH
MUM&
B.
Ohe
o [gon
OH ﬂl Me
D.
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qvNPmDXFUnpo
https://dl.doubtnut.com/l/_KZ4afNZkjWke

36. The most stable conformation of the following compound is :


https://dl.doubtnut.com/l/_etZzKweQL0Zd

t-Bu

~—
C. § i
Bu N ~Me
D. " Me
Answer: C

o Watch Video Solution

37. How many of the following statements are correct?

1) The most stable conformer of cis-1, 3-cyclohexanediol is chair form.

2) Cis- 1, 3- cyclohexanediol is more stable than trans -1, 3-
cyclohexanediol.

3) In Cis 1, 3-cyclohexanediol both the OH groups occupy equitorial
positions.

4) The most stable conformer of trans -1, 4-cyclohexanediol is chair form.
5) The most stable conformer of cis-1, 4-cyclohexanediol is boat

conformer.


https://dl.doubtnut.com/l/_etZzKweQL0Zd
https://dl.doubtnut.com/l/_mTtchg6hv5pM

A.land Il

B.land IV

C.lland Vv

D.1,IVand VI

Answer: D

° Watch Video Solution

38. What is the maximum number of stereoisomers possible for

discodermolide ?

HDHT
O~ © /j\r
OH

CH

B. 21°


https://dl.doubtnut.com/l/_mTtchg6hv5pM
https://dl.doubtnut.com/l/_MM7X07LxXIYX

c. 216

Answer: B

° Watch Video Solution

39. An aqueous solution containing compounds A and B shows optical

activity. A and B are stereoisomers. Which of the following possibilities

cannot be correct?

A. A has two chiral centers, but B does not have any because it has a

symmetry plane

B. A and B are enantiomers

C. A and B are diastereomers

D. A and B are not present in equal amounts

Answer: A



https://dl.doubtnut.com/l/_MM7X07LxXIYX
https://dl.doubtnut.com/l/_MWLpHJGPoJiU

| ° Watch Video Solution

40. Which of the following structures represents the lowest-energy form

of (1S, 2S, 4R)-trimethyl -cyclohexane ?

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MWLpHJGPoJiU
https://dl.doubtnut.com/l/_QELSxXMqBNFs

41. Which one of the following is a diastereomer of (R)-4-bromo-cis-2-

hexene ?

A. (S)-4-bromo-cis-2-hexene

B. (S)-5-bromo-trans-2-hexene

C. (R)-4-bromo-trans-2-hexene

D. (R)-5-bromo-trans-2-hexene

Answer: C

° Watch Video Solution

42. The structural formula of cocaine is shown below. How many

stereogenic carbon atoms are there in this molecule ?


https://dl.doubtnut.com/l/_U7sZfeNdscv0
https://dl.doubtnut.com/l/_EBEVOvxZLFYP

H
153

Al
B.2
C.3

D.4

Answer: D

OCH

° Watch Video Solution



https://dl.doubtnut.com/l/_EBEVOvxZLFYP

43. Which of the following statements best describes the stereochemical

relationships of compound I, Il and lll shown below ?

CHO CHO CHO

H——H H—1—H H H

B H—7—CH H CH
H4C H 3 i
H—1+—CH,4 HLC—1T—H H= CH,

(n

H—r—H H—r—H H H
CHO CHO CHO

A. All compounds are chiral

B. None of the compounds is chiral

C.land Il are meso compounds

D. 1 and Il are enantiomers, and Il is a meso compound

Answer:

° Watch Video Solution

44.What is the absolute configuration of the following molecules ? (NS =

the molecule has no center) Note : For the purpose of this question only,


https://dl.doubtnut.com/l/_oc5AYd20yh64
https://dl.doubtnut.com/l/_nZmuCFkjXDq5

the order of stereocenters is not specified , i.e,R,S=S,R.

Ho ¥
Y
m »—0 (mn [M

H,C=N_ CH=NH cl

0 r r
() (V) 8r [

Cl

I IIT IV
RS R NS
I III IV
RR S RR
I IIT IV
R,S NS NS
I II1 IV
RS R RS

=v R =B = B = B

Answer: D

° Watch Video Solution

45. The number of all the possible stereoisomers formed by the given

compound is :


https://dl.doubtnut.com/l/_nZmuCFkjXDq5
https://dl.doubtnut.com/l/_pjcDQtJYwjYr

A2

B.3

C.32

D. 64

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pjcDQtJYwjYr

46.The relationship among the fol

Q) m

(n

lowing pairs of isomers is:

<O

(1)

Br Br Br H CHO CHO
H OH HO ‘l—EI
i HEH ' CH,OH CH,OH
(1) (IV)

1 A: Constitutional

11 B: Configurational

m C: Conformational

v D: Optical

AI— A II-B,III-B, IV —

B.] — A, II-A, II[-B, IV —

c.I - B,II-A,II[-B,IV —

D.I — B,II-B, ITI- A, IV —

Answer: B

D

D

D

B

° Watch Video Solution



https://dl.doubtnut.com/l/_ZAwi2OfudfTg
https://dl.doubtnut.com/l/_ggrKoOtAEZ7y

47. The structural formula of sativene is shown below. How many

stereogenic centers are there in this molecule ?

A2

B.4

C.3

D.5

Answer: D



https://dl.doubtnut.com/l/_ggrKoOtAEZ7y

| ¥ Vvatcn vVideo oolution

48. Which of the following is the least stable conformer of cyclohexane ?

A. (Chair)

H
B.
[
C. (Twist boat)
<7
D. (H4ali chasr
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ggrKoOtAEZ7y
https://dl.doubtnut.com/l/_3PzhhZwU9UGh

49. The S- enantiomer of ibuprofen is responsible for its pain-relieving
properties. Which one of the following structures shown below is (S)-

ibuprofen ?

=0

|
C - OH

<©7 C{':"“L:} 1

A 5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xgJ3FleEQ5gy
https://dl.doubtnut.com/l/_wJTP4mmSGrs4

50. Which of the following depict the same ?

GH, CH,ClH,

CH,CH, ™= C ~=Cl

CH,CH,
H,C B —=a Br

Br -'(i (]

o ) o

Br

CH,
2

1

A.1and 2
B.2and3
C.1and 3

D.1,2,and 3

Answer: D

° Watch Video Solution

51. A naturally occurring substance has the constitution shown below.

How many Isomers may have this constitution ?

0
HO CH,OH

HO CH = CHCH = CHCH,CH,CH,


https://dl.doubtnut.com/l/_wJTP4mmSGrs4
https://dl.doubtnut.com/l/_mj45xxrrxACr

A2

B.8

C.16

D. 64

Answer: D

° Watch Video Solution

52. The absolute configurations of the two centers in the following

molecule are :


https://dl.doubtnut.com/l/_mj45xxrrxACr
https://dl.doubtnut.com/l/_7DI9TFij2Y6E

A.2(R), 3(S)
B.2(R), 3(R)
c.2(S), 3(S)

D.2(S), 3(R)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7DI9TFij2Y6E

53. Total number of steriosomers possible for 2,3-dichlorobutanal is

A2

B.3

C.4

D.5

Answer: B

° Watch Video Solution

54. Which of the following structure is not meso-2,3-butanediol ?

CH,
H—+—0H

A OH


https://dl.doubtnut.com/l/_5lciyC233geA
https://dl.doubtnut.com/l/_F1NzAPHV3ZWY

OH
H—1—CH,

B. OH

CH,
HO —t+—H
) H—f—CH,

OH

OH CH,
H HO
CH,

Answer: A

° Watch Video Solution

55. A solution of optically active 1- phenylethanol racemizes in acidified

aqueous medium. It is due to :

A. enolization


https://dl.doubtnut.com/l/_F1NzAPHV3ZWY
https://dl.doubtnut.com/l/_5arulrjxRDfH

B. carbonium ion formation

C. carbanion formation

D. reversible oxidation-reduction

Answer: B

° Watch Video Solution

56. The most stable conformation of ethylene glycol is :

A. Anti

B. Gauche

C. Partially eclipsed

D. Fully eclipsed

Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_5arulrjxRDfH
https://dl.doubtnut.com/l/_LkYEk9mAGhGn

Ci, H
H——1—0H HO —1+—CH,
Br ——H H—+—C,H.

CaHe Br
57.

The molecules represented by the above two structures are :
A. identical
B. enantiomers
C. diastereomers

D. epimers

Answer: A

° Watch Video Solution

58. The correct order of  priority of  groups -
SCH3(I), — NOy(II), — C = CH(III) and - CH,C4zH5(IV), on the

basis of CIP classification, is (increasing order) :


https://dl.doubtnut.com/l/_zfMgJRsjJKDN
https://dl.doubtnut.com/l/_9G9rxw3cAEDv

A LI IV

B. IV, IIL, I, 1

C L1V, 1N

D. 1L IV, 11,1

Answer: B

o Watch Video Solution

59. The configuration at C-2 and C-3 of the compound given :

CH,
H——cl
Cl H

C,Hx


https://dl.doubtnut.com/l/_9G9rxw3cAEDv
https://dl.doubtnut.com/l/_g4mWX68jp176

A.2R, 35S

B.2S, 3R

C.25,3S

D.2R, 3R

Answer: C

° Watch Video Solution

60. Amongst the following amino acids, the (R) - enantiomer is

represented by:

CH,
H._..\.-'+ COOH

A. H

COOH

H—’—NHE

CH,


https://dl.doubtnut.com/l/_g4mWX68jp176
https://dl.doubtnut.com/l/_42mdzL0Zkcgk

C COOH
COOH
D. A
Answer: B

° Watch Video Solution

61. Which of the following is a meso compound ?

CH,
H——Br

H-—t—Br
CH,

CH, - CH,4

H—34+—0H
H—1—0H

CH, - CH,4



https://dl.doubtnut.com/l/_42mdzL0Zkcgk
https://dl.doubtnut.com/l/_6P5foPA2YnUJ

H H

OH OH

D. All of these

Answer: D

° Watch Video Solution

62. Predict stereochemistry of product when d and l-amine reacts with |-

acid:

A. Diastereomers

B. Meso

C. Racemic

D. Pure Enantiomer

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6P5foPA2YnUJ
https://dl.doubtnut.com/l/_pg2jwBKL4jjp

63. How many chiral center (excluding N centres) are there in morphine?

HO

HIO

A4
B.5
C.6

D. More than 6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pg2jwBKL4jjp
https://dl.doubtnut.com/l/_Sa9x3va2B3fI

64. Which of the following is optically active

A. trans-1,2

B. cis-1, 2

C.trans-1,3

D.cis-1, 3

Answer: A

° Watch Video Solution

65. Which of the following is the enantiomer of the compound shown

below ?


https://dl.doubtnut.com/l/_VwZQlJFCUHtU
https://dl.doubtnut.com/l/_4SaN3gceYhbw

Mo Br
Br H

Me — Dl
Kt

Me
H—T1—Br
H—r—Br

HO —r—Me

Ex

H
Me —rT—Br
H—t+—Br
Me ——OH



https://dl.doubtnut.com/l/_4SaN3gceYhbw

Br — 71— Me
Br —+—H
HO —1—Me
C Et
H
Br —fF— Me
H —1—Br
Bt —— Me
D. OH
Answer: A

° Watch Video Solution

66. How many different stereoisomers are possible for the following

compound ?

H

|
C’HC:HC—‘C’—CH:CHC’Z
cl

Al


https://dl.doubtnut.com/l/_4SaN3gceYhbw
https://dl.doubtnut.com/l/_VM2ATC0IdLjF

B.2

C.3

D.4

Answer: D

° Watch Video Solution

67. The following compounds are best described as :
(R) — PhCH(OH)CHj and (S) — PhCH(OH)CH;
A. enantiomers
B. diastereomers
C. not stereoisomers

D. conformational isomers (differing by single bond rotation)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_VM2ATC0IdLjF
https://dl.doubtnut.com/l/_0ao47n0brZs4

68. Rank of the following groups in order of R, S precedence (IV is
highest) : -

—CH(CH3)2 —CHchQBT —CHQB’I" —C(CH3)3
1 2 3 4

A2>3>1
B.1>3>2
C3>1>2

D.2>1>3

Answer: D

° Watch Video Solution

69. compare the stabilities of the fallowing two compounds (A) and( B)

A: cis:-T-ethyl-3-methyl cyclohexane B: trans -1-ethyl -3-methyl cyclohexane

A. A is more stable


https://dl.doubtnut.com/l/_0ao47n0brZs4
https://dl.doubtnut.com/l/_i57VcUOdZzLZ
https://dl.doubtnut.com/l/_7AiCuMM5lC6s

B. A and B are of equal stability

C.B is more stable

D. No comparison can be made

Answer: A

° Watch Video Solution

70. What, if anything, can be said about the magnitude of the

equilibrium constant K for the following equilibrium ?

H H

CH{CH,); =——= H4C
H H

CH, CH(CH,),

AK=1

B.K <1

CK>1

D. No estimate of K can be made


https://dl.doubtnut.com/l/_7AiCuMM5lC6s
https://dl.doubtnut.com/l/_iY05RIZ5VD3x

Answer: B

° Watch Video Solution

71. What is the relationship between the two structures shown ?

A. Constitutional isomers

CH, cl

B. Stereoisomers

C.Different drawing of the same conformation of the same

compound

D. Different conformation of the same compound

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_iY05RIZ5VD3x
https://dl.doubtnut.com/l/_sRIIkyY6G6rP
https://dl.doubtnut.com/l/_SYU9TODOTgqF

72. Which of the following statements is true ?

A.van der Waals' strain in cis-1, 2 dimethylcyclopropane is the

principal reason for its decreased stability relative to the trans

isomer

B. Cyclohexane gives off more heat per C'H, group on being burned

in air than any other cycloalkane

C.The principal source of strain in the boat conformation of

cyclohexane is angle strain

D.The principal source of strain in the gauche conformation of

butane is torsional strain

Answer: A

O Watch Video Solution

isomerises

73.Ph — CH = NOoH ——  (z) Isomer (x)is:
3days  (50-50%)


https://dl.doubtnut.com/l/_SYU9TODOTgqF
https://dl.doubtnut.com/l/_KbwFQFdbxZiS

A.Ph — NO — CH,OH

B. Ph — CH, — NO,

C.Ph— NH — CO,H

D. None

Answer: B

° Watch Video Solution

74. Which one of the following will not show geometrical isomerism ?

ACH,— C = CH — CH, — CH,
\
CH3
B.CHs; —CH — CH =CH — CHy; — CH3s
|
CH;

C.CH; —CH =CH - CH;

D.CHs — CHy = CH — CHy, — CHjy

Answer: A

| e


https://dl.doubtnut.com/l/_KbwFQFdbxZiS
https://dl.doubtnut.com/l/_9ieMM96bFTto

| & Watch Video Solution

75.The two compounds shown below are :

H H
a, L ~* 0

and
Nal H*

A. diastereomers
B. enantiomers
C. epimers

D. regiomers

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9ieMM96bFTto
https://dl.doubtnut.com/l/_uVulHdNpFyJ5

76. The molecular formula of diphenylmethane,

@—ml@ , 18 Cy3Hyg

How many structural isomers are possible when one of the hydrogen is
replaced by a chlorine atom ?

A.6

B.4

C.8

D.7

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_n6hHo0ZVa0Qi

77. Correct configuration of the following molecule is :

CH,
H —t— Ot
CH, OH

H

A.25,3S
B. 2S, 3R
C. 2R, 3S

D. 2R, 3R

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_d84CkTMaKhpY

78. Maximum enol content is in :

H

N

Answer: D

O
A
A
A,

B.

o Watch Video Solution



https://dl.doubtnut.com/l/_WEzOXkTsAShe
https://dl.doubtnut.com/l/_40rZznq4HSnl

79. Which of the following will have one of the stereoisomer meso ?

A. 2-chlorobutane

B. 2, 3-dichlorobutane

C. 2,3-dichloropentane

D. 2-hydroxypropanoic acid

Answer: B

° Watch Video Solution

80. The correct decreasing order in the enol content of following

molecules is :

g %
<=f >

11 (il {TIT)

Al>1II>IIT


https://dl.doubtnut.com/l/_40rZznq4HSnl
https://dl.doubtnut.com/l/_fCaNPFUtqdcq

B.II > 1 > III

CIIIT>II>1

D.II > III > 1

Answer: A

o Watch Video Solution

81. Total number of stereocisomers of the compound 1-bromo-3-

chlorocyclobutane is:

A.O

B.1

C.2

D.3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fCaNPFUtqdcq
https://dl.doubtnut.com/l/_LbcYOyEgXZJn

82. Total number of stereoisomers of the 1,3 dichlorocyclohexane is:

A.O

B.1

C.2

D.3

Answer: C

° Watch Video Solution

83. Total number of stereoisomers

dichlorocyclohexane is :

A l.0

B.2.1

C.3.2

of the

compound

1,

4-


https://dl.doubtnut.com/l/_LbcYOyEgXZJn
https://dl.doubtnut.com/l/_mehLsv3VLJn6
https://dl.doubtnut.com/l/_f6LPvx3TqGD5

D.4.4

Answer: C

o Watch Video Solution

84. Total number of stereoisomers of the compound 2-4-dichloroheptane

is:

A l.0

B.2.1

C.3.2

D.4.4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_f6LPvx3TqGD5
https://dl.doubtnut.com/l/_TzuAkaGUr7UR

85. In which of the following keto form is more dominating than enol

form:

D:_

D. all of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_sCV1jr0W3BdE

86. Among the following compounds, which will give maximum enol

content in solution :

A.’C_6H_5-overset(O)overset(||)(C)-CH_2-overset(O)overset(||)(C)-C_ H 3
0 o

B.C’H3—|C|’—C’H2 —g’_CHg
o

C.CH; — |C|Y — CH, — CH, — CH;4
0

D.CH; — |C|’ — CH, — COOC,Hj

Answer: A

° Watch Video Solution

87. Which of the following has unstable enol form ?



https://dl.doubtnut.com/l/_qBhqY4Vvvv4j
https://dl.doubtnut.com/l/_TxRjbIv29KDy

Answer: C

o Watch Video Solution

88. Calculate enantiomeric excees of mixture containing 6g of (+) 2-

butanol and 4g of (-) -2-butanol.

A 10 %

B.20 %


https://dl.doubtnut.com/l/_TxRjbIv29KDy
https://dl.doubtnut.com/l/_N0LKbpjOAS0o

C.40 %

D.33%

Answer: B

o Watch Video Solution

89. Which of the following pair represent pair of diastereomers ?

A. Meso tartaric acid and (I) tartaric acid

€o,H €o,H
H OH  HO

4
Ho H HO H

Co; co;

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_N0LKbpjOAS0o
https://dl.doubtnut.com/l/_szyrhrNAfE3k
https://dl.doubtnut.com/l/_xmMRnDOfYDC4

90. The stereochemistry of this molecule is :

cH, H
3 Cl

A 1R, 3R
B. 1R, 3S
C.15,3S

D. 1S, 3R

Answer: A

o Watch Video Solution

91. Pure (S)-2-butanol has a specific rotation of +13.52 degrees. A sample

of 2-butanol prepared in the lab and purified by distillation has a


https://dl.doubtnut.com/l/_xmMRnDOfYDC4
https://dl.doubtnut.com/l/_Q4hnL6CYlbEp

calculated specific rotation of +6.76 degrees. What can you conclude

about the composition ?

A. 50% (S), 50% impurity

B. 50% (S), 50% (R)

C.50% (S), 50% racemic

D. some other mixture

Answer: C

° Watch Video Solution

92. Determine the absolute configurations of the chiral centres in the

following compound.


https://dl.doubtnut.com/l/_Q4hnL6CYlbEp
https://dl.doubtnut.com/l/_w1sB6H4z1YbR

Br

A. a=R, b=S
B.a=R,b=R
C.a =S, b=S

D.a =S, b=R

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_w1sB6H4z1YbR

93. Total number of stereoisomers possible for following compound is :

CH == CH,

A.8
B.16
C.32

D. 64

Answer: A

° Watch Video Solution

94. Which is the correct structure of D-glyceraldehyde ?


https://dl.doubtnut.com/l/_dmUXX4ld6oh0
https://dl.doubtnut.com/l/_suCrpbleqlPL

CHO

H+GH

CH,OH
H
HO —|—CHCI
CH,OH
B.
CH,OH
HO +H
CHO
C.
D. All of these
Answer: D

o Watch Video Solution

]

|
95.HO -CH, —-CH, - C — H
(3) (2) (1)

Which conformer of above compound is most stable (consider


https://dl.doubtnut.com/l/_suCrpbleqlPL
https://dl.doubtnut.com/l/_DabJ8GIz1EaO

conformer across (Cy — C3)

A. Staggered
B. Gauche
C. Fully eclipsed

D. Partially eclipsed

Answer: B

° Watch Video Solution

CH, - OH CH, - OH
H—T—0H HO =—t——H
HO —+——H HO ———H
CHO CHO
96. (@) (b)

Configuration of above carbohydrate is :

ALLD

B.L,D, L

CHO

Il —+——OH
H ——f—— CH,OH

OH

(D) & (L)


https://dl.doubtnut.com/l/_DabJ8GIz1EaO
https://dl.doubtnut.com/l/_XiGDft1db2Qk

CLLL

D.L,D,D

Answer: B

o Watch Video Solution

97. How many isomers are possible for Bromo methyl cyclopentane

(Ignoring chirality)

A4

B.5

C.6

D.7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XiGDft1db2Qk
https://dl.doubtnut.com/l/_3n6c0uSdw871
https://dl.doubtnut.com/l/_W9kIsBXc30gm

98. Which among the following compounds show geometrical isomerism

[)1- butene II) 2-butene Ill) 2-methyl-2-butene IV) 2-pentene

G mm C
A 17 ~q
- CH,
C
8 ~cH,
C=C
c al - "N Er
CHy — CH,
(:/
D, CHs— ™ cH,
Answer: D

o Watch Video Solution

99. Which of the following structure represent meso-compound ?


https://dl.doubtnut.com/l/_W9kIsBXc30gm
https://dl.doubtnut.com/l/_v1DrWQEuHw0V

B.
H
% A0H
OH
H
C.
CH,0H
CH,OH
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_v1DrWQEuHw0V

CO,H

H - OH

CH,

How many representations of lactic acid are possible in Fischer

100.

projection (d &I)?

A.8

B.12

C.24

D. 36

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_88h1kkapFMjz

101. Total number of stereoisomer formed by the given compound is :

A2

B.3

C.4

D.8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_88h1kkapFMjz
https://dl.doubtnut.com/l/_C169BB6ypCMt
https://dl.doubtnut.com/l/_AXJzHpFmRmEk

102. The number of stereoisomers formed by the given compound is :

A2

B.3

C.4

D.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AXJzHpFmRmEk

103. Which of the following compound does not undergo base -

catalyzed exchange in D50 even though it has an a-hydrogen?

D. both (b) & (c)

Answer: D

| ° Watch Video Solution


https://dl.doubtnut.com/l/_AXJzHpFmRmEk
https://dl.doubtnut.com/l/_EEPw8LL3iIYN

OH
w DO/, product
lispig time
104. )

Identify the product formed in the above reaction:

Oil
[§]
0
D
D D
A. @]
[8]]
D
D
D D
B.
OH
D
8]
c. on

D. None of these

Answer: B


https://dl.doubtnut.com/l/_EEPw8LL3iIYN
https://dl.doubtnut.com/l/_IXfP25FirTKq

° Watch Video Solution

105. In 3-methyl-2-cyclohexenone which hydrogen cannot undergo

deuterium exchange when it reacts with CH;0° /CH;0D ?

A H,, H,

B. H,

C. H;, H,

D. Hy, H,

Answer: B



https://dl.doubtnut.com/l/_IXfP25FirTKq
https://dl.doubtnut.com/l/_ypG7EmtKu31j

| o Watch Video Solution

OH

(I LT} LLLE
106.

The tautomer of Il is :

Al

B. 1l

C.both I and 1lI

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ypG7EmtKu31j
https://dl.doubtnut.com/l/_IObtvPAshpTb

[ {oa

Hf
Hly

In the enolization of the given molecule, the H-atom involved is :

Aa—H
B.B— H
Cy—H

D. cannot be enolized

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_52FoSEsHh8MF

=1 lix

“~HpA
H-y

108. !

Among the given structure which hydrogen can exhibit tautomerism ?

A.lonly
B. 1l only
C. Il only

D. none of these

Answer: B


https://dl.doubtnut.com/l/_52FoSEsHh8MF
https://dl.doubtnut.com/l/_JrQwJfFgc63M

° Watch Video Solution

CH, CH,
CH,y CHy  CHy
CH,

109. {Ey (i {111}

Identify the which can exhibit tautomerism ?

A.lonly

B. 1l only

C. Il only

D. all of these

Answer: D

CH;

CH,

° Watch Video Solution

110. CH 3-CH=0 — CH_2=CH-OH'

Between the two tautomers which is more stable ?



https://dl.doubtnut.com/l/_JrQwJfFgc63M
https://dl.doubtnut.com/l/_38V5Y3SowJs7
https://dl.doubtnut.com/l/_MSMj2xuoa2lP

Al

D. none of these

Answer: A

° Watch Video Solution

OH : OH

l

(1 (1L}

m. i

Correct stability order of the given tautomers is :
Al>1II>1III
B.IIT > II > 1

CII >1>1III


https://dl.doubtnut.com/l/_MSMj2xuoa2lP
https://dl.doubtnut.com/l/_jCl9QvvPxngN

D.II > III > 1

Answer: C

o Watch Video Solution

12. {r} {10 (1)

Correct stability order of the given tautomers is :

Al >1II>III

B.IIT > II > 1

CII>1T>III

D.II > III > 1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jCl9QvvPxngN
https://dl.doubtnut.com/l/_GqEHvslD9Tye
https://dl.doubtnut.com/l/_3H4U8fcYFfXW

P ol

Yol ~ - -

b ]

—

D 0-

|~ -
N oH

The correct order of enol contents x,y,z is :

1n3. ..

Az >y>«x

B.z>y>z

Cy>z >z

Dz >z>y

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3H4U8fcYFfXW

;p I;)H
= Il \\ U ( X Z k ¥
o o " %o 0" ou
Q?ﬁ Q\ 2% (x, ¥, 31 represent enol content)
OH

114.

(%, y, z represent enol content)

The correct order of x,y,z is :
Az >y>z
Bz>y>z
Cy>z >z

Dz >z>y

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HcfgABwY0gbZ

Among the given ketones, the one which does not enolize is :

Al
B. 1l
c.

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0TYiFZBxq2UO

©f

CH,
(.
I
H
n,ﬂl o™
16, Product

The product of this reaction should be:

¢D,
(]
11
A.
;|
(8]
@/Ff
H
B.


https://dl.doubtnut.com/l/_hBCrgQaq1hxF

CH,

D. All of these

Answer: B

° Watch Video Solution

O O

117. I mn (II1)

Among the given compounds, the correct order of enol content is :

Al >II>III

B.IIT > II > 1

CII >1>1III


https://dl.doubtnut.com/l/_hBCrgQaq1hxF
https://dl.doubtnut.com/l/_KkN34vmUHjre

D.II > III > 1

Answer: C

o Watch Video Solution

118. (n (i ()

Among the given compounds, the correct order of enol content is :

Al>1II>III

B.IIT > II > 1

CII>1T>III

D.II > III > 1

Answer: A



https://dl.doubtnut.com/l/_KkN34vmUHjre
https://dl.doubtnut.com/l/_r1nZ6VKupMmL

| ¥ VVatch video sSolution

5 .
o O o

119. w " {m

Among the given compounds, the correct order of enol content is :
Al>1II>IIT
B.III > II > 1

CIII >1>1I

D.IT > 1 > III

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_r1nZ6VKupMmL
https://dl.doubtnut.com/l/_bmhFVipTuky0

120.

How many geometrical isomers are possible for the above compound ?

A3

B.4

C.6

D.8

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gzFLRYRFqGyH

121. Which one of the following comppunds will not show

geomtricalisomerism?

”": D C/H
S
Me CH;

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mnooKJivvYzt

| -
4‘.‘\ | f,H

122.

Choose the correct relation between [; and [y ?

Al =1y

B.li > I

Clhi<ls

D.ly = 2l

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mnooKJivvYzt
https://dl.doubtnut.com/l/_PHkeQ5s7H12E

123.

Choose the correct relation between [; and [, ?

Al =1

B.ly > 1y

Cli <l

D. lz == 2l1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_AdqTAhr8OGl1

124.

How many geometrical isomers of this compound are possible?
A.O
B.2
C.3

D.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YNMRzkzZCcbo
https://dl.doubtnut.com/l/_FmENJVlSKLjr

CH,

C,Hs

125.

How many geometrical isomers are possible for the above compound ?
A.O
B.2
C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FmENJVlSKLjr

CH,

126. Cl 1Z’i

How many geometrical isomers are possible for the above compound ?

A.O
B.2
C.3

D.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_edaOdVBBUceT

CH.

127. E I .

How many geometrical isomers are possible for the above compound ?

A.O
B.2
C.3

D.4


https://dl.doubtnut.com/l/_4mH75MfkKTfV

Answer: B

° Watch Video Solution

CH,

CH,

128. . e — S

How many geometrical isomers are possible for the above compound ?
A.0
B.2

C.3

D.4



https://dl.doubtnut.com/l/_4mH75MfkKTfV
https://dl.doubtnut.com/l/_NzINcICiHk75

Answer: A

° Watch Video Solution

CH, CH,

129.

How many geometrical isomers are possible for the above compound ?
A.O
B.2
C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NzINcICiHk75
https://dl.doubtnut.com/l/_oYqYVhqJSnJn

CHR— [_r, —=__CH;’ CHst;F_E.; e
]I.-'"(I e (‘ = L“""\H H"f _‘--‘-‘_""‘-;‘“‘-C}!]
( (1)

130.

I and Il are geometrical isomers of each other because

Al =1
B.li > Iy
Clo>1

D.l; and I3 cannot be compared.

Answer: C

° Watch Video Solution

B1L.CHy, = CH-CH = CH-CH = CH»

How many geometrical isomers are possible for this compound ?

A2


https://dl.doubtnut.com/l/_oYqYVhqJSnJn
https://dl.doubtnut.com/l/_6om3fUROBGjN
https://dl.doubtnut.com/l/_pVXMLZ8X8Mga

B.3

C.4

D.8

Answer: A

° Watch Video Solution

52 CHy— CH=C-C =CH - CH
Br Cl

isomers possible for this compound are

A2

B.3

C.4

D.6

Answer: C

Number of geometrical

| o WMilabkdl .\t daa Al bt


https://dl.doubtnut.com/l/_pVXMLZ8X8Mga
https://dl.doubtnut.com/l/_WTZdZm54toXO

| vYvallll VIUCUV JUIULIVII

CHl, EI[={{: C =CH-CH,

Hr Br
133.

How many geometrical isomers of this compound are possible ?
A2
B.3
C.4

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WTZdZm54toXO
https://dl.doubtnut.com/l/_4dxUYWoNHbvb

134.

A. chiral

B. (3 axis of symmetry

C. Optically active

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0nBASPgAygcR

cl Cl ]

Br Br r

(Al (B}

135.

Relationship between above pair (A) & (B) is :

A. Enantiomer

B. Diastereomers

C. Identical

D. Structural isomer

Answer: C

Br

° Watch Video Solution



https://dl.doubtnut.com/l/_gWpQeSOVBxdP

136.
From above compound (A), (B), (C) & (D) chiral compound is :
A A
B.B
C.C

D.D

Answer: A

0 Watch Video Solution

137. Which of following compound is achiral ?


https://dl.doubtnut.com/l/_LlJfElOrqdEG
https://dl.doubtnut.com/l/_MNKM0TIgKC1R

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MNKM0TIgKC1R

CH;-0-CH,~CH, CHy—(CHy)n_ _ACH,)5CHy
C

. H CH
7-CH,-0-CH,-CH4

CH,—(CH,) (CH;)s-CH,

“Hy

138. (A) (B)

R and S configuration of compound (A) & (B) will be :
AR, R
B.R, S
C.S,R

D.S, S

Answer: D

° Watch Video Solution

139. Which of following compound has center of symmetry?

r
Tr@
CH‘—@—CH;

A‘ Br



https://dl.doubtnut.com/l/_FQCXrljqKcnW
https://dl.doubtnut.com/l/_yv1QZ9TiVlly

H><NH -i ACHj4
CHJ C-NH H

B.

, H
|
Cl
F CHy4
C.
D. All of these
Answer: D

° Watch Video Solution

140. Which mixture of structure in each beaker would rotate plane

polarized light ?



https://dl.doubtnut.com/l/_yv1QZ9TiVlly
https://dl.doubtnut.com/l/_MjVMlgSHvHys

D. All of these

Answer: D

° Watch Video Solution

141. Which of following compound will rotate the plane polarized light at

room temperature?

=)

A.


https://dl.doubtnut.com/l/_MjVMlgSHvHys
https://dl.doubtnut.com/l/_OSZ2kvZ4QzN4

Answer: B

° Watch Video Solution

142. Which of the following having plane of symmetry?


https://dl.doubtnut.com/l/_OSZ2kvZ4QzN4
https://dl.doubtnut.com/l/_BM1hOGnMfpGB

H H

H H

D. All of these

Answer: D

o Watch Video Solution

143. Which of following compound is achiral ?



https://dl.doubtnut.com/l/_BM1hOGnMfpGB
https://dl.doubtnut.com/l/_BuCGvikwY5QU

D. All of these

Answer: D

° Watch Video Solution

144. Which of the following compound has plane of symmetry ?

R:—C|H—CI-I S:—C]H—C’l

CH?, Br


https://dl.doubtnut.com/l/_BuCGvikwY5QU
https://dl.doubtnut.com/l/_H1lMqw9yPR5J

5 3
S
B.
R
5 5
R
C.

D. None of these

Answer: D

° Watch Video Solution

145. Which of following is E isomer ?

S


https://dl.doubtnut.com/l/_H1lMqw9yPR5J
https://dl.doubtnut.com/l/_QDhgMB0Hpol5

OH

Answer: D

° Watch Video Solution

146. Among the given pairs, in which pair second compound has less

enol content than first compound?



https://dl.doubtnut.com/l/_QDhgMB0Hpol5
https://dl.doubtnut.com/l/_rKOX25U5cZnr

A&

D. none of these

Answer: C

° Watch Video Solution

o

|
147. Ph — CH — C — O — H, (A) and (B) are isomer and isomerization

!
OH

(4)
effectively carried out by trace of base (B). Identify (B).

O
A.Ph—CH2—g’—O—H
0]
B.Ph—|C|—O—CH3
(0]

|
C.Ph—-C—-CH, - OH



https://dl.doubtnut.com/l/_rKOX25U5cZnr
https://dl.doubtnut.com/l/_GBRVUY4KM767

0

|
D.H—-C—-CHy, -0 — Ph

Answer: C

o Watch Video Solution

148. CH; —CH =CH — CH =CH — CH;, total number of

geometrical isomer is :

A.2
B.3
C.4

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GBRVUY4KM767
https://dl.doubtnut.com/l/_werfdwsK3svJ

149. Identify most stable enol form of terric acid:

(o

o
0

A

(0]

CH,4

OH
B.
OFl


https://dl.doubtnut.com/l/_O3Bs6bZOMwtz

OoH

Answer: C

o Watch Video Solution

150. Which structure is most stable ?

P

OH O

A

/?i/?\
S


https://dl.doubtnut.com/l/_O3Bs6bZOMwtz
https://dl.doubtnut.com/l/_pyp4Rrj0zq2c

OH OH

Answer: C

° Watch Video Solution

151. Identify conformer of 2-methly pentane :

H
H #

H H
CH,CH,

CH, Et
CH-


https://dl.doubtnut.com/l/_pyp4Rrj0zq2c
https://dl.doubtnut.com/l/_HVnXQ0yaMTqj

H H
C.
Ef
3 H H
D.
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_HVnXQ0yaMTqj

152. The lowest energy conformer



https://dl.doubtnut.com/l/_UPeCIbCoFueM

&
&
o

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UPeCIbCoFueM

!El

f:]f

153.

How many atoms will be bisect during plane of symmetry ?
A2
B.4
C.6

D.8

Answer: C

° Watch Video Solution

154. The number of all types of isomers of chlorobutane is :


https://dl.doubtnut.com/l/_jTTj7I1RXrtd
https://dl.doubtnut.com/l/_lKK1xGQQ9D7L

A2

B.4

C.6

D.5

Answer: D

° Watch Video Solution

155. Which of the following pairs of compounds are not positional

isomers ?

CH,

HO,
o
A

CH,
ORI
CH,4 OH OH

OH
- SO
CH,

B

CH,OH OCH,

O =

D. All of these


https://dl.doubtnut.com/l/_lKK1xGQQ9D7L
https://dl.doubtnut.com/l/_Yn8fT1bgUMnr

Answer: C

° Watch Video Solution

156. Which of the following pairs of compounds are not functional

isomers ?

R
PNIDY

c N “and NO

)Gko/and}lr

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Yn8fT1bgUMnr
https://dl.doubtnut.com/l/_XbcXLHnHTZz2
https://dl.doubtnut.com/l/_8OxOq1MiS3Ut

157. The isomeric alcohol which has a chiral carbon atom is:

A. n-butyl alcohol

B. iso-butyl alcohol

C. sec-butyl alcohol

D. tert-butyl alcohol

Answer: C

° Watch Video Solution

158. The pair of enantiomers among the following compound is:

CH, CH, CH4 H
Ph+i| I[+ Br Ph+ Br Br |~ -CH,
Br Ph H Ph
1 i} 111 v
A.land IV

B.lland IV


https://dl.doubtnut.com/l/_8OxOq1MiS3Ut
https://dl.doubtnut.com/l/_RjwDwJ2XSte2

C.lland 1l

D.land Il

Answer: C

o Watch Video Solution

159. Which of the following is a chiral molecule

A. Cell phone

B. Spiral staircase

C. Scissor

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RjwDwJ2XSte2
https://dl.doubtnut.com/l/_VTBQujglK2Xr

160. Which of the following compounds have plane of symmetry?

cl
)
A. v
Cl
»
7
B Cl
CH;
C. \'m I
CH,
cH,?
D.
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YSr29WyTLYEK

161. Which of the following will have one of the stereoisomer meso ?

A

=
&
o

S

Answer: B

s


https://dl.doubtnut.com/l/_YSr29WyTLYEK
https://dl.doubtnut.com/l/_o7ye5xfnNWTc

l o Watch Viaeo Solution

162. For the following Newman projection

He 9@

H

H H

¢l Cl
I H
A
H al
c
H H


https://dl.doubtnut.com/l/_o7ye5xfnNWTc
https://dl.doubtnut.com/l/_bTUaFIIjTL7q

C.
H cl
5%3
H
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bTUaFIIjTL7q

163. Which of the following is correct for the given compound?

A. It possess centre of symmetry

B. It possess Cy axis of symmetry

C. It possess plane of symmetry

D. compound is chiral

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tsY6feWoCcGH

164. Which of the following molecules has axis of symmetry and a coaxial

plane of symmetry?

o . ) - ) . . .
P S cl al N4 ‘
) H H (b) (c) (d)
B PR CO©

(e) All of these

o Watch Video Solution

165. Number of diastereomer of given compound :

H Cl



https://dl.doubtnut.com/l/_tnDfFoCB5TaA
https://dl.doubtnut.com/l/_UmsUZQFyAC3U

A2

B.3

C.4

D.6

Answer: B

° Watch Video Solution

166. Which of the structures is/are diastereomer of A ?

T

A3

B.1and 4


https://dl.doubtnut.com/l/_UmsUZQFyAC3U
https://dl.doubtnut.com/l/_9B04rxVI6nBe

C.2and 3

D.5

Answer: B

° Watch Video Solution

167. Identify which of the structures below are meso structures ?

wr
0 , O O.T/L \T)L
0
(1 (2) [j’ () 4
/I:o]\ o o\g)\ O\H/O\
0
0 1
\\I.'-

A.1and 3
B.1,3and 5
C.1,3and 4

D.2and 5

Answer: A



https://dl.doubtnut.com/l/_9B04rxVI6nBe
https://dl.doubtnut.com/l/_5MFfBHP6cOwn

| o Watch Video Solution J

168. How many enol form is possible for

o

|
CHs — CHy — C — CH2 — CHj3 (including stereoisomers) will be ?

A2
B.3
C.4

D.5

Answer: C

° Watch Video Solution

169. Find the sum of all the stereoisomer that are present in below

compounds :


https://dl.doubtnut.com/l/_5MFfBHP6cOwn
https://dl.doubtnut.com/l/_mGgvhQO6RtiE
https://dl.doubtnut.com/l/_uvV3pkMKIlWl

CH CH, CH, CH,

H_ H - H - H__ :
CH,4 CHy CH,4 CH4
H H CH, CH,

v’ H"
CH, CH,
(n (I (1) (Iv)

A.8
B.9

C.10

Answer: C

° Watch Video Solution

170. A pair of stereoisomers might be classified in various ways. Which of
the following statement are true with respect to pairs of stereoisomers ?
(a) They might be configurational isomers

(b) They might be diastereomers

(c) They might be constitutional isomers

(d) They might be tautomers .


https://dl.doubtnut.com/l/_uvV3pkMKIlWl
https://dl.doubtnut.com/l/_60YqHSt9PwGx

(e) They might be conformational isomers

(f) They might be enantiomers

(g) They might be positional isomers

A.a,b,ce

B.b,d,e,f, g

C.a,b,f

D.a,b,c,f

Answer: C

o Watch Video Solution

171. Ignoring specific markings, which of the following objects are chiral ?
() a shoe (Il) a book (l1) a pencil
(IV) a pair of shoes (consider the pair as one object) (V) a pair of scissors

A.lonly

B.I&V


https://dl.doubtnut.com/l/_60YqHSt9PwGx
https://dl.doubtnut.com/l/_1bjmKrvQ2y8v

C. LI,V

D. I, IV, V

Answer: B

o Watch Video Solution

172. Calculate the total number of stereoisomers when alkene having

trans configuration :

0

A2

B.3


https://dl.doubtnut.com/l/_1bjmKrvQ2y8v
https://dl.doubtnut.com/l/_CLNxHnmu8Hvt

C.4

D.8

Answer: C

o Watch Video Solution

D 00 D03
———LIJ——-————. E.E}
Probonged
{_,'*_j treai et
173.
After prolonged treatment of (A) by D2O /DO, the difference in

molecular weights of compounds (A) and (B) is :

A2
B.3

C.4


https://dl.doubtnut.com/l/_CLNxHnmu8Hvt
https://dl.doubtnut.com/l/_6ehy9HbWdPs8

D.8

Answer: C

° Watch Video Solution

174.
A mixture of all isomers possible from the mono-chlorination of the
structure is subjected to fractional distillation, then how many fractions
will be obtained?

A2

B.3

C.4

D.5

Answer: B



https://dl.doubtnut.com/l/_6ehy9HbWdPs8
https://dl.doubtnut.com/l/_IuDbXergwgmR

| ¥ VVatch video Solution

175.

Number of optically active isomer is/are :
A.O
B.1

C.2

D.3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IuDbXergwgmR
https://dl.doubtnut.com/l/_4G3vvHk3NVRg

176. At normal temperature, X and Y

OH

OH

A. resonance structures

B. tautomers

C. functional isomers

D. positional isomers

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4G3vvHk3NVRg
https://dl.doubtnut.com/l/_sLhmyV3fSXfs

177. Two possible stereoisomers for

H COOH
= are

H H

A. enantiomers

B. diastereomers

C. conformers

D. rotamers

Answer: A

° Watch Video Solution

178. The configurations of the carbon atoms C3 and C3 in the following

compound are respectively


https://dl.doubtnut.com/l/_SvOnX2XaJr7g
https://dl.doubtnut.com/l/_LvuyogsTGA49

COOH

H (OH
OH—r—H

CHO

A.R,R

B.S,S

C.R,S

D.SR

Answer: A

° Watch Video Solution

179. The compound that is chiral is


https://dl.doubtnut.com/l/_LvuyogsTGA49
https://dl.doubtnut.com/l/_8lKMQxxr2bMl

A. 3-methyl-3-hexene
B. 4chloro-1-methycyclohexane
C. 2-phenylpentane

D. 1,3-disopropylbenzene

Answer: C

° Watch Video Solution

180. Number of optically active tartaric acid is/are possible :

Al
B.2
C.3

D.4

Answer: B

| 0 Watch Video Solution


https://dl.doubtnut.com/l/_8lKMQxxr2bMl
https://dl.doubtnut.com/l/_gCslF3wUidER

Br

181. Number
of optically active isomer is/are :

A.O0

B.1

C.2

D.3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gCslF3wUidER
https://dl.doubtnut.com/l/_zqGpzMsjsbF4

182. Correct relationship b/w pair of compounds.

L/ -

(1)

§

(2) //_\\_// and
& 7N wa

A. 1-Conformer, 2-Conformer , 3-Conformer

B. 1-Conformer, 2-Stereoisomers (Gl) , 3-Stereoisomers (Gl)

C. 1-Conformer , 2-Stereoisomers (Gl), 3-Conformer

D. 1-Stereoisomerism (Gl) , 2- Stereoisomerism (GI) , 3-

Stereoisomerism (Gl)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zqGpzMsjsbF4
https://dl.doubtnut.com/l/_kSNc01ApXyOu

183. Number of diastereomers possible for

CH,

CH-CH,

Al
B.2
C.4

D.O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iNtJpiCC55OB

H v C————( ~onj| H

Br

H
o
H Wi ( —— CT H
CH

184. 3

Sum X + Y = ? No.of enantiomer = X (first compound). No. of
diastereomer=Y (second compound)

Al

B.3

C.4

D.O

Answer: D



https://dl.doubtnut.com/l/_TnfIa0nzkwNY

| ¥ vvatch vide€o solution

Level 2

1. Match the Column (1) and (II).

P ————

(a) CHy —CH=CH—CH= N—OH (p) 2 l
|
|

®) @ 4 '

(e) | CH; —CH=CH—CH=CH—CH=CH—CH, | () 6

()| CHy —CH= CH—CH = CH—CH=CH-Ph (s) 8

° Watch Video Solution



https://dl.doubtnut.com/l/_TnfIa0nzkwNY
https://dl.doubtnut.com/l/_VZrEjj4V0oWr

2. Match the Column (1) and (l1).

Group Equilibrium Constant
(a) R= —H @ 38
(b) R = —CHjy (q) 23
(c) R= —Et (r) 18
R==— CH—CH,
(d) \L:m (s) 1

° Watch Video Solution



https://dl.doubtnut.com/l/_6npL4R0BKZNx

3. Match the Column (1) and (Il). (Matrix)

Column (1)

Column (11)

HO  co,H OH

number of chiral centers

H
§ _ CO,CH,CH,0H I
|
(@) CE ) Chiral |
£ COo,H
H
H H
¥ _CO,CH,CH,0,C_ §
(b) (I 4 h D (q) Achiral
£ C0,CHyCH,0,C 7 2
H H
oH H CO5H
(c) (r) Meso
co,H H OH :
|
H GO0 H
() (s) Compound containing even

° Watch Video Solution



https://dl.doubtnut.com/l/_d9QYT5PJXFYZ

4. Match the Column (1) and (ll), (Matrix)

Column (1) Column (11)
CH, H
(a) P Geometrical isomerism
H Et
CHy Et
(b) (qQ) Optical isomerism |
H H
D |
CHy Bt '
(e) () | compound containing plane of symmetry |
H H I
(d) (8) | Compound containing center of symmetry |

° Watch Video Solution



https://dl.doubtnut.com/l/_habjezj3I5z7

5. Match the Column (1) and (ll).

Cl cl
d ) ‘
o QZHJ ” il CHy ® Identical
cl il €l |
I

»

@,

(b) Q‘:‘ " and (@) Enantiomer
il CHy il CHy
cl will CH
(c) Qﬂ nnd@ g () Diastereomer
CHy il Cl
(d) CHy : (s)
&

Structural Isomerism

° Watch Video Solution

6. Match the Column (1) and (11). (Matrix)

CHyBr  OHCH,

@ G”:LC“.'\ R

HO Br

Br OH CH,4

(b) | CHy CHy | (g trans-compound

CH, HO Br

( ) nll|(’f1|._‘ ( )
e T . ;
CHy Optically active
) CHy4 ®
L} sally |
CH, Optically inactive



https://dl.doubtnut.com/l/_kVHlczsYi7AL
https://dl.doubtnut.com/l/_kwnGhFBrT8xt

° Watch Video Solution

7. Match the Column (1) and (ll). (Matrix)

e m. w 1
' H H
(a) o Goe G g a (P) | Chiral centers containing compound |
H CHy ;
(b) Gt >=< H (@ Presence of stereocenter ;
3 J
Cl |
() Be : (r) Optically active compound
I
CHyn_ _-OH
(d) o /': o= N% (s) | Compound containing plane of symmetry

° Watch Video Solution



https://dl.doubtnut.com/l/_kwnGhFBrT8xt
https://dl.doubtnut.com/l/_SAqnUWMQlY0A

8. Match the Column (1) and (Il). (Matrix)

Column (1)

Column (I1)

Molecule Property
F H
M -
Ce=C=C=C
(a) el S P Polar molecule
P H
~ >t
s £ ;
(b) T C ~% (q) Optically active
(e) F :)Omlll F (r) Optically inactive
H
H F
(d) (s) Plane of symmetry
H H
H

° Watch Video Solution



https://dl.doubtnut.com/l/_cii7dNX5v9x1

9. Match the Column (1) and (Il). (Matrix)

|ﬁ
Molecule Property |

/ |

Me
o H
(a) (p) Meso compound

M

&
o

(b) (a) Achiral |
Iy I
Me I

Me
ol H
© wH (x) Chiral compound
Me
Me
‘.\\\H
) Me i (8) | Compound will show geometrical isomerism
- iy
ot K

° Watch Video Solution



https://dl.doubtnut.com/l/_QNXcRYVz14h2

10. Match the Column (1) and (ll).

T L)

Modified Newmann Projection Conformers
CH4CH4
(a) () Fully eclipsed
|
Y Het !
J
|
H CHy
(b) (q) Partially eclipsed
CHy H H H '
!
CH, '
H H
(c) (r) Gauche
H H
CHy
CH,
H CHy
(d) (s) Staggered
H H |
i |

° Watch Video Solution



https://dl.doubtnut.com/l/_gGYqyaU6SH4v

11. Match the Column (1) and ().

Newmann Projection Name of the Compound i
CHy
H CHy
{a) ()] 3-methyl pentane |
H H |
“CHy
CHy
CH,
(b) S (q) n-butane
H H
H
|
CHy I
H |
(e) (r) Methyl-cyclopentane |
H |
H |
(d) (s) 1,2,4-trimethyl cyclohexane
CHy CHy @
|

o Watch Video Solution



https://dl.doubtnut.com/l/_NPNeCIpaT5Y4

12. Match the Column (1) and (ll). (Matrix)

Column (1) Column (I1)
(a) ) Rotates plane polarized light
cl
(b) (,A (q) | Cannot rotate plane polarized light
Br e
Br
(c) (r) Plane of symmetry
AsMey
CHy ~_ ant
(d) Co= CumiC (s) Centre of symmetry
CHy "™ N
- o

° Watch Video Solution

13. Match the Column (1) and (ll).

| CH3 —CH = CH—CH—CH,4

| (@) Br (») 1
i II—CEC—CI[_—CH-—(r‘H-—-CH—CEIJ t 3
Br T
Q
(c) Ph — u—CH = CH —ﬁ:H —CH;, (r) 3
CHy

Ph—CH—Er

() & (s) 4



https://dl.doubtnut.com/l/_cA4fqL2kbaqa
https://dl.doubtnut.com/l/_ZXLbY59S9s4A

0 Watch Video Solution

14. Match the Column (1) and (I1).

(a)

()]

Cf/‘c “SCOMe
(b)

(q)

(r)

@ /U

(s)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXLbY59S9s4A
https://dl.doubtnut.com/l/_AjhOLaw2jxny

15. Match the Column (1) and (ll). (Matrix)

(a) Me

p)

Meso Compound

(b)

Compound having even no. of
@
chiral centres

0
H
(c) H o (r) Optically active compound
0 N
H
COOH
2 ey et Compound having odd no. of
@ H ——— OH (s) chiral centres.
COOH T =) |

° Watch Video Solution



https://dl.doubtnut.com/l/_9Ybj9wmwFAPJ

16. Match the Column (1), (11) and (lll). (Matrix)

e

Column (II) Column (1IT)

17.

From the above compounds select :

(A) two of which are chiral and contain chiral centre :


https://dl.doubtnut.com/l/_6issoOsPvOmq
https://dl.doubtnut.com/l/_mnwm5MLUQXkl

(C) two of which are chiral and does not contain chiral centre :

18. Comprehension

cl cl

&
3 e
a

Consider the given structures and answer A,B & C.

Which of the compound is optically active ?

AP

B.R

C.S

D. T


https://dl.doubtnut.com/l/_mnwm5MLUQXkl
https://dl.doubtnut.com/l/_imzKAxMA6eEa

Answer: A::D

° Watch Video Solution

19.

Consider the given structures and answer A, B & C.

Which of the isomer is most stable ?

AR
B.S
C.T

D.U

Answer: A::B


https://dl.doubtnut.com/l/_imzKAxMA6eEa
https://dl.doubtnut.com/l/_KgfIcdcdPkGK

° Watch Video Solution

20. Identify relationship between following pairs :

COzH COH '
OH H H OH F H I
Qo= 8- Brog |
(a) (b) \Tl" \1/' '
| H H cl o F
CO,H CO,H
f CH
OH OH F CH; e ;‘ 3
(© (d) w—CBF
@ H-JC F F\\\‘c—c‘\n
CH,

If they are enantiomer answer will be 1, if they are diastereomers answer
will be 2, if they are constitutional isomers answer will be 3 and if they
are identical present 4 as the answer. Sum of answer of each parta +b +

c+dis:...

° Watch Video Solution

21.In each of the following three questions a hydrocarbon is named. For
each select from among the sixteen conformational structures (a
through p) all structures that represent possible conformers of that

compound. Write letters (a through p), corresponding to your selections,


https://dl.doubtnut.com/l/_KgfIcdcdPkGK
https://dl.doubtnut.com/l/_VdKQUvJkQy0q
https://dl.doubtnut.com/l/_GHM2fQ05jvnb

in each answer box.

o Watch Video Solution



https://dl.doubtnut.com/l/_GHM2fQ05jvnb
https://dl.doubtnut.com/l/_rzfFQpkR2JL5

22. Examine structures a through j, shown below, with respect to their
symmetry or lack of it. Assume that the five-membered rings and the ring
in compound g are planar. The wedge-hatched bonds in b, ¢, d & e
designate specific configurations. Also, for the acyclic compounds
assume stable anti conformations. Answer each of the following
questions by writing letters (a through j), corresponding to your
selections, in each answer box. If there is no structure that fits the
description enter an x in the answer box.

Which structures have a center of symmetry ?

Br

H OH |
Br Br |
o Ol O o] O

OH

Br Br Br ‘Br
o O |ol ot el O

8]

(®) Kj (h) €, H,CHCI, W C,Hy CHOIC, Hy i

» C,HyCHCICH,

o Watch Video Solution



https://dl.doubtnut.com/l/_rzfFQpkR2JL5

23. Examine structures a through j, shown below, with respect to their
symmetry or lack of it. Assume that the five-membered rings and the ring
in compound g are planar. The wedge-hatched bonds in b, ¢, d & e
designate specific configurations. Also, for the acyclic compounds
assume stable anti conformations. Answer each of the following
questions by writing letters (a through j), corresponding to your
selections, in each answer box. If there is no structure that fits the
description enter an x in the answer box.

Which structures have a plane of symmetry?

Br

H OH I
Br Br |
o B o B O

OH

Br Br Br “\\Br
() (e) \O (N O\ H
o 0 |

0

® d ™ ¢, HiCHE, @  CHeHacH,

) C,H,CHCICH,

° Watch Video Solution



https://dl.doubtnut.com/l/_P9PAEdgpZCNJ

24. Examine structures a through j, shown below, with respect to their
symmetry or lack of it. Assume that the five-membered rings and the ring
in compound g are planar. The wedge-hatched bonds in b, c, d & e
designate specific configurations. Also, for the acyclic compounds
assume stable anti conformations. Answer each of the following
questions by writing letters (a through j), corresponding to your
selections, in each answer box. If there is no structure that fits the
description enter an x in the answer box.

Which structures have a center of symmetry ?

Br

H OH I
Br Br |
o O Of e O

OH

Br Br I ‘Br
o "o ol O o] O

0

(8) fj (h) €, H,CHCI, @] CaHsCHOIC, H; i

2 C;HyCHCICH,

O Watch Video Solution



https://dl.doubtnut.com/l/_P9PAEdgpZCNJ
https://dl.doubtnut.com/l/_zfgGEgY0DuXk

25. (i) 1,2-dichlorocyclopropane = w

(i) 1,3-dimethyl-cyclobutane = x

(iii) 2-bromo-3-chlorobutane =y

(iv)1,3-dimethyl cyclohexane = x

Calculate total number of stereoisomer of the above compounds.

Sumofw+x+y+z=...

° Watch Video Solution

26. Examine the following formulas and select those pairs that satisfy
the following conditions: Be sure to write two letters (and only two) in
each answer box, unless you select f. In the second and third parts more

than one answer is possible.


https://dl.doubtnut.com/l/_zfgGEgY0DuXk
https://dl.doubtnut.com/l/_pYqsosGRFY3g
https://dl.doubtnut.com/l/_YxzYB3BzpXpG

CaHy HC |
CH
HyC H H 34
(b) (e) T |
H H.C
CH, 4 Cry |
CHy
® H CHy ® No formulas meet the I
HC H designated condition
CH

Which are constitutional isomers?

° Watch Video Solution

27. Examine the following formulas and select those pairs that satisfy the
following conditions: Be sure to write two letters (and only two) in each
answer box, unless you select f. In the second and third parts more than

one answer is possible.

CoHg e |
CH
HyC H H 34
m © \L/ |
H H,C
CH, : Cry |
CHy
® H CH, ® No formulas meet the I
HC H designated condition
CH

Which are conformational isomers?

| n‘.. " 1 w1 -~ 1 e ]


https://dl.doubtnut.com/l/_YxzYB3BzpXpG
https://dl.doubtnut.com/l/_v6HJO9xvNCV0

| % vvaldll vidco S0iution )

28. Examine the following formulas and select those pairs that satisfy
the following conditions: Be sure to write two letters (and only two) in
each answer box, unless you select f. In the second and third parts more

than one answer is possible.

H H,C
CHy - CH

= H/(_CH? e »\j&u = X H

H,C
CaH CH, 3 CHy

CH,

i = H

(@ H3F“‘HC2H5 ) H CHy ® Nio l’urmul:s mo;ﬂ the

; M et
i &, M HC " designated condition

CHy |

Which are constitutional isomers?

° Watch Video Solution

29. Examine the following formulas and select those pairs that satisfy
the following conditions : Be sure to write two letters (and only two) in
each answer box. In the second and fourth parts more than one answer

is possible.


https://dl.doubtnut.com/l/_v6HJO9xvNCV0
https://dl.doubtnut.com/l/_xjzRwUn68yCd
https://dl.doubtnut.com/l/_M2mHyO7tcgaU

K B
(e) Ho|® % .
Br |

Which are identical in all respects?

° Watch Video Solution

30. Examine the following formulas and select those pairs that satisfy
the following conditions : Be sure to write two letters (and only two) in

each answer box. In the second and fourth parts more than one answer

is possible.
.'._' e . E B
i Br
?‘ _}_‘F| - N\ H [h) Br \‘% B | (e) Br%ﬁ] :
R ' H
l;‘: i Br
, Br H B
{EW [iﬁ (e) %H ® llrfz N
Rl B -
e pi br |

Which are configuration isomers?

° Watch Video Solution



https://dl.doubtnut.com/l/_M2mHyO7tcgaU
https://dl.doubtnut.com/l/_Qb6wKDYSmBTt

31. Examine the following formulas and select those pairs that satisfy the
following conditions : Be sure to write two letters (and only two) in each

answer box. In the second and fourth parts more than one answer is

possible.
. Br i
(a) ur\N\n m| ™ B | (o) m%&u
i I
. Iir
Br
i o H Br
@ {Bri:ﬁn () k;u ® %m
Br
H

Which are conformational isomers?

° Watch Video Solution

32. Consider the following statements regarding the given projection

(True or False).


https://dl.doubtnut.com/l/_nXBcO4F3P7vG
https://dl.doubtnut.com/l/_ZcTjlu5ZW9b2

W and Y are diastereomers .

o Watch Video Solution

33. Consider the following statements regarding the given projection

(True or False).

Zis the projection of X .

o Watch Video Solution



https://dl.doubtnut.com/l/_ZcTjlu5ZW9b2
https://dl.doubtnut.com/l/_DXMfENCm0TbB

34. Consider the following statements regarding the given projection

(True or False).

W, X, Y and Z are optically active .

o Watch Video Solution

35. Consider the following statements regarding the given projection

(True or False).

Y and Z are isomer .

o Watch Video Solution



https://dl.doubtnut.com/l/_OXESTHsYSyGL
https://dl.doubtnut.com/l/_rEIDSVcBzmxZ

36. Examine the following structural formulas and select those that are

chiral.

o Watch Video Solution

37.The configuration of eight compounds, a through h are shown below,
using various kind of stereo representations. To answer the question

given below, write (a through h) indicating your choice.


https://dl.doubtnut.com/l/_To6glz2xubHV
https://dl.doubtnut.com/l/_I23CHQ22ehVA

Which of these configuration are achiral?

o Watch Video Solution

38. The configuration of eight compounds, a through h are shown below,
using various kind of stereo representations. To answer the question

given below, write (a through h) indicating your choice.


https://dl.doubtnut.com/l/_I23CHQ22ehVA
https://dl.doubtnut.com/l/_6xEUr3CehKB6

Which configuration has no stereogenic center?

o Watch Video Solution

39. The configuration of eight compounds, a through h are shown below,
using various kind of stereo representations. To answer the question

given below, write (a through h) indicating your choice.


https://dl.doubtnut.com/l/_6xEUr3CehKB6
https://dl.doubtnut.com/l/_6XTKHPjH75MA

Which configuration has more than one stereogenic center?

° Watch Video Solution

40. The configuration of eight compounds, a through h are shown below,
using various kind of stereo representations. To answer the question
given below, write (a through h) indicating your choice.

[

Which of these configuration are meso compound?

o Watch Video Solution



https://dl.doubtnut.com/l/_6XTKHPjH75MA
https://dl.doubtnut.com/l/_LDoaJJ3igsfl

41. The structural formula of ten compounds, (l) through (X) are drawn
below, you may select any one of these structure. Answer the following

question about that compound.

A. How many chiral centre are present in this compound ?

(@) 0(b) 1(c) 2(d)3(e) 4 (f) 5

B. Is this compound chiral or achiral ? C. What symmetry element are
present in this compound ?

(a) None (b) Plane of symmetry (c) Center of symmetry

° Watch Video Solution



https://dl.doubtnut.com/l/_H6XRzCmPawaj

42.The structure of one of the enantiomers of the amino acid cysteine is

shown below.

Classify this structure as: (@) Ror S

(b) DorL

o Watch Video Solution

43. |dentify the following double bonds either E, Z or None (N) in the

compounds given below either.


https://dl.doubtnut.com/l/_ANJt4AlVzzpt
https://dl.doubtnut.com/l/_HeXKcwTTdPWv

° Watch Video Solution

44. (a) Bongkrekic acid is a toxic compound produced by Pseudomonas
cocovenenans, and isolated from a mold that rows on bongkrek, a
fermented Indonesian coconut dish. (a) Label each double bond as E, Z

or neither (N).

(b) How many total stereoisomers (including all types) are possible for

bongkrekic acid ?


https://dl.doubtnut.com/l/_HeXKcwTTdPWv
https://dl.doubtnut.com/l/_0Nr7ovzGUJ1B

o Watch Video Solution

45. Designate the following double bonds as E, Z or none (N)

configuration in the boxes provided below.

o Watch Video Solution

46. The following compounds may exist as two or more stereoisomers.

These may be classified as enantiomer pairs or meso compounds.


https://dl.doubtnut.com/l/_0Nr7ovzGUJ1B
https://dl.doubtnut.com/l/_osrdnbPXiVw1
https://dl.doubtnut.com/l/_8QuzVkOSGj2r

CeH
2
CeHg 2H

CeH H
HO.
inic acid il acid
© ?<>—GO=H @
! cl
Cl
(€) C(CHCHC) 4 ® m:O—CO:H
cl a
e s
cl c

Answer the following question about the above structure,

(A) Total number of stereoisomers :
(B) Number of enantiomeric pairs :

(C) Number of meso compounds :

° View Text Solution



https://dl.doubtnut.com/l/_8QuzVkOSGj2r

47.Find relationship between given pair :



https://dl.doubtnut.com/l/_NDSjATOMoflO

° Watch Video Solution

48. Structural formula of compound (A) is following:

HD,C CO,H

The correct statement(s) about the compound (A) is/are:

A. The total number of stereoisomers possible for (A) is 3
B. The total number of mesoisomer possible for (A) is 1
C. The total number of pair of enantiomer possible for (A) is 1

D. All of these B.

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_NDSjATOMoflO
https://dl.doubtnut.com/l/_tHeLPYcmxTMB

49, Structural formula of compound (A) is following:
e S

HO.C CO,H

Number of plane of symmetry in cis-form of compound (A) is:

AO
B.1
C.2

D.3

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_gR0NOkdVd38t

50. Match the column. (Matrix)

(a) Catyo
b CsHya

(e) | CgHyg

I_L[ﬂ? Crthg

0w s |8

o Watch Video Solution

51. Match the column. (Matrix)

Colummn (1) Column (11)

o Watch Video Solution



https://dl.doubtnut.com/l/_fGhfTMKK7KY2
https://dl.doubtnut.com/l/_G9ya2vH5ytVU

52. Draw a most stable conformation (N - C) bond in the following

1
Ho .. i
AT e
b

“,.-" s

=

° Watch Video Solution

53. Find total number of stereoisomers for each compound given below :

M
o)

]
Ph—S -CH=CH-CHy,—CH=C=C=CH-CH = CH-CHj


https://dl.doubtnut.com/l/_6C92ejoCPi0v
https://dl.doubtnut.com/l/_Mibb9Hbm6nvV

\ Y
I

NO, cl

=l

C H
CH,
_N-0i
(4) Ph - CH - CH - NH - CH, (5)
OH CH,
N-1
! i
(6) 11-0-C-GH - GH-C -1 el
ol oH H

cl
(8) 9 CH - CH = Gt - Clly
(10) CH, - G = CH (|:H CH, m}—<:>:cu-cu:,

° Watch Video Solution



https://dl.doubtnut.com/l/_Mibb9Hbm6nvV

54. Find the total number of sterecisomer for each compound :

IJA—N ﬂJAb—rb
EA\—::: “}Ab_.d
DA\ ——p {E}A—'f

° Watch Video Solution

55. Match the column :

0 @-1-D

; I
(b) CHy =CHy =CHg ~ C =0H , CHy ?Il - CHy w Positional
CO4H

t,) Chain



https://dl.doubtnut.com/l/_eOWbIBlEzJxI
https://dl.doubtnut.com/l/_cHl42OIm1EI2

o Watch Video Solution

56. Find sum of stereoisomer of following compound.

o Watch Video Solution



https://dl.doubtnut.com/l/_cHl42OIm1EI2
https://dl.doubtnut.com/l/_FbhLrf72XrxT
https://dl.doubtnut.com/l/_LXjhqbDJ7ihi

OH
[1] Prostaglandin E,

< =
S,
s [ 11

57.

Prostaglandin E1 1 is a compound produced by the body to regulate a

variety of processes including blood clotting, fever, pain and

inflammation.

Which of the following functional groups is not contained in 1?
A. A ketone
B. An alcohol
C. A carboxylic acid

D. A nitrile

Answer: d

0 Watch Video Solution



https://dl.doubtnut.com/l/_LXjhqbDJ7ihi
https://dl.doubtnut.com/l/_OdWly442SQrq

]
wo H TH
[1] Prostaglandin E,

58.

Prostaglandin E1 1 is a compound produced by the body to regulate a
variety of processes including blood clotting, fever, pain and

inflammation.

How many asymmetric (stereogenic) centres are present in compound 17
A3
B.4
C.5

D.6

Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_OdWly442SQrq
https://dl.doubtnut.com/l/_5m9NAN5qMcGn

H
Ho H Tl
[1] Prostaglandin E,

59.

Prostaglandin E1 1 is a compound produced by the body to regulate a
variety of processes including blood clotting, fever, pain and

inflammation.

How many sp? hybridised carbon atoms are present in compound 1?
A1l
B.2
C.3

D.4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5m9NAN5qMcGn
https://dl.doubtnut.com/l/_UKVY3Sax3nPv

i
Ho H TH
[1] Prostaglandin E,

60.

Prostaglandin E1 1 is a compound produced by the body to regulate a
variety of processes including blood clotting, fever, pain and

inflammation.

What is the geometric configuration about the double bond in
compound 1?7

A E

B.Z

C.both aandb

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UKVY3Sax3nPv

Ethynylestradiol (1)

61.

The synthetic steroid ethynylestradiol (1) is a compound used in the
birth control pill.
How many sp® hybridised carbon atoms are present in compound (1)?
A.8
B.9

C.10

D.12

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_UKVY3Sax3nPv
https://dl.doubtnut.com/l/_McBTwZsIsulv

HO™
Ethynylestradiol (1)

62. —

The synthetic steroid ethynylestradiol (1) is a compound used in the
birth control pill.
How many sp® hybridised carbon atoms are present in compound (1) ?
A4
B.5

C.6

D.7

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_swcwQABmOn6P
https://dl.doubtnut.com/l/_gBO0UWZQaUhC

"

ynylestradiol (1)

63, —————

The synthetic steroid ethynylestradiol (1) is a compound used in the

birth control pill.

How many sp hybridised carbon atoms are present in compound (1) ?
A2
B.4
C.6

D.8

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gBO0UWZQaUhC
https://dl.doubtnut.com/l/_Hoka5WdovbM2

Ethynylestradiol (1)

64.
The synthetic steroid ethynylestradiol (1) is a compound used in the
birth control pill.
Which of the following functional group is contained in compound (1) ?
A. A ketone
B. An alcohol

C. A carboxylic acid

D. An ester

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Hoka5WdovbM2
https://dl.doubtnut.com/l/_zm27uXKX4TRL

"

Ethynylestradiol (1)

65, ——— 9 M —

The synthetic steroid ethynylestradiol (1) is a compound used in the
birth control pill.

How many asymmetric (stereogenic) centres are present in compound (1)

?

A2

B.3

C.4

D.5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zm27uXKX4TRL

66. Match the column.

Column (1) Column (11)

o Watch Video Solution



https://dl.doubtnut.com/l/_N3JzY8eLtigx

Level 2 Subjective Problems

1. Number of chiral isomers are:

2.

Number of stereoisomer are


https://dl.doubtnut.com/l/_N3JzY8eLtigx
https://dl.doubtnut.com/l/_un3FCPwJ5vhC
https://dl.doubtnut.com/l/_n6iHbKqGT8Ce

° Watch Video Solution

L
; ~CH, H,
(i) (iid 2
( Mafars )

CHy

Sum of number of stereoisomer (C) Degree of unsaturations in (D).

o Watch Video Solution

4. How many 5 membered parent chain alkane are possible for C7Hi6?

o Watch Video Solution



https://dl.doubtnut.com/l/_n6iHbKqGT8Ce
https://dl.doubtnut.com/l/_pRt2KqXk1X9d
https://dl.doubtnut.com/l/_UgJ6MgLR5E7K

5. Theoretical possible geometrical isomer of

II

o Watch Video Solution

6. The number of structural isomers possible for Cs Hy1 Br is

° Watch Video Solution



https://dl.doubtnut.com/l/_AonWR9likhxA
https://dl.doubtnut.com/l/_O9D6st9dZYC8

7. Total number of plane of symmetry present in given compound is

& I

o Watch Video Solution

8. Total number of isomers for Cy Hg Bry containing cyclobutane ring are

(including stereoisomer) ?

° Watch Video Solution

9. Total number of structural isomers of CyHig containing cyclohexane

ring.

o Watch Video Solution



https://dl.doubtnut.com/l/_eV67aN8UioBN
https://dl.doubtnut.com/l/_uo09uus0L4SX
https://dl.doubtnut.com/l/_LwxndWgNFLKM

10. How many structural isomers exist with the formula C4+H10O?

o Watch Video Solution

11. Write structures of different chain isomers of alkanes corresponding

to the molecular formula CgH14. Also write their IUPAC names.

° Watch Video Solution

12.(a)

( Number of plane of symmetry)


https://dl.doubtnut.com/l/_LwxndWgNFLKM
https://dl.doubtnut.com/l/_6nbO0NhS3tD1
https://dl.doubtnut.com/l/_WLbjj3EhTsr0
https://dl.doubtnut.com/l/_QoXWzQhzxMH4

[ 11|.'.|
A .
(b) — (y)

(Number of mesoisomer of 1, 2-dichlorocyclopentane) Sum of

(z+y=17)

° Watch Video Solution

13. Find out the total number of stereocentre in the given compound.

C’Hg—C’H:C'H—C]H—C'H—C’Hg
Br Cl

° Watch Video Solution

14. Write the name of the organic compound which have the following

structure.


https://dl.doubtnut.com/l/_QoXWzQhzxMH4
https://dl.doubtnut.com/l/_WuOz9f0L5mVy
https://dl.doubtnut.com/l/_1MHm43zl6Kxh

CH,; — CH, — CH, — |C’H — CH,

Cl

° Watch Video Solution

15. Find the total number of isomers of C7 H14 (only 5-membered ring).

o Watch Video Solution

16. x = number of compounds which undergoes Tautomerisation to form

an Aromatic product.

o Watch Video Solution



https://dl.doubtnut.com/l/_1MHm43zl6Kxh
https://dl.doubtnut.com/l/_lmxFJPvH1TMI
https://dl.doubtnut.com/l/_3CPcKw75ApCT
https://dl.doubtnut.com/l/_C5hoe0cPWaoD

17. 1f molecule is pyramidal, X stereoisomers are possible for :

Cabcd

find the value of X.

o Watch Video Solution



https://dl.doubtnut.com/l/_C5hoe0cPWaoD

